
Totar Pages : .1 B.Sc.r/2ndsem{H)/zao/2a(cBcs)

2424

2nd Semester Examination

ZOOLOGY (Honours)

Paper z GE 2-T

' 
lAnimal Diversity]
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Full Marks :40 Time: Two Hours

The figures tn the margin indicate full martrs.
Candidates are required to gtve their answers

in,their own words as -far as practtcable.

Group -A

Answeranyy'uequestions: 2x5:IA

1. Write two characters of subkingdom protozoa- Give two
examples. i+l

2. What is a spicule?

3. What is Nematocyst? Where is it found?

4. What is metamerism?

5. State the functions of tube feet.

6. What is Parental care?
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7. Write down the d.ifference between osmoregulator and

osmoconformer.

8. Write down four differences between Ratitae and

Carinatae.

Group - B

AnsweranyJfozrquestions : 5x4:20

9. Give an account of various flight muscles of a pigeon.

10. Describe briefly different kinds of teeth found in mammals.

11. Define migntion. Describe the methods of nigration found

in fish 2+3

12. Describe the process of formation of naural pearl.

13. What is syconoid canal system? Describe it with a

diagmm. 2+3

14. What is polymorphism? Describe the basic type of
polymorphic colony found in cnidarians. 2+3

1s. (a)

(b)

i 6. (a)

(b)

Group-C

Answer any one question : 10x1:10

Describe the human cycle of plasmodium vivax

with diagmm.

Write down four characters of Nematoda. 8+2

Describe the terrestrial adaptations of Reptilia.

Gir,e four characters of class-Aves. 8'2
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